L7 SGS-THOMSON
Y iicRozLECTRONICS BUX98AP

HIGH POWER NPN SILICON TRANSISTOR

s SGS-THOMSON PREFERRED SALESTYPE T
= NPN TRANSISTOR

» HIGH VOLTAGE CAPABILITY
» HIGH CURRENT CAPABILITY
» FAST SWITCHING SPEED

APPLICATIONS

» HIGH FREQUENCY AND EFFICENCY
CONVERTERS

» LINEAR AND SWITCHING INDUSTRIAL
EQUIPMENT

DESCRIPTION TO-218 (SOT-93)
The BUX98AP is a silicon multiepitaxial mesa
NPN transistor in jedec TO-218 plastic package,
intended for use in industrial applications from ;
single and three-phase mains operation.

INTERNAL SCHEMATIC DIAGRAM
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ABSOLUTE MAXIMUM RATINGS
Symbol Parameter 5 Value Unit
Veen |Collector-Emitter Voltage (Rse = < 10 Q) 1000 A
Vees  |Collector-Base Voltage (Vae = 0) 1000 v
Vceo | Collector-Emitter Voitage (ig = 0) 450 v
Veso |Emitter-Base Voltage (lc = 0) 7 Y
lc Collector Current 24 A
fcwm Coliector Peak Current (tp < 5 ms} 36 A
Is Base Current 5 A
iem Base Peak Current (tp < 5 ms) 8 A
Piot Total Power Dissipation at Tcase < 25 °C 200 w
Tsg | Storage Temperature -65 to 150 °C
T, Max Operating Junction Temperature 150 - °C
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BUX98BAP

THERMAL DATA

z Rinj-case lThermal Resistance Junction-case Max I 0.63 l cTIW

ELECTRICAL CHARACTERISTICS (Tcaso = 25 °C unless otherwise specified)

Symbol Parameter Test Conditions Min. | Typ. | Max. | Unit
lcen Collector Cut-off Vee = Vges 1 A
Current (Rge = 10 Q) Vee = Vees Teoase = 125°C 8 mA
Ices Cotlector Cut-off Vee = Vees 400 uA
Current (Vee = 0) Vce = Vces Tcase = 125°C 4 mA
lceo Collector Cut-off Vce = Veeo 2 mA
Current (lg = Q)
leso Emitter Cut-off Current |Veg =5V 2 mA
(lc = 0)
Veeoysus)* |Collector-Emitter Ic = 200 mA 450 v
Sustaining Voltage
Veerisus)* | Collector-Emitter L =2mH lc=1A 1000 Y
Sustaining Voltage
Vcesay* |Collector-Emitter lc=16 A lB=32A 1.2 v
Saturation Voltage
VeE(say* |Base-Emitter lc =16 A lg=32A 1.5 v
Saturation Voitage
ton Turn-on Time Voo = 150 V lc =20 A 1 us
ts Storage Time gy =-lgz=4A 3 us
1 Fall Time 0.8 us
ton Turn-on Time Vge = 150 V lc=16 A 1 us
ts Storage Time Igy =-lp2 = 3.2 A 3 us
t Fall Time | 0.8 us

* Pulsed: Pulse duration = 300 us, duty cycle = 1.5%
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